
1111123 MATr12553A Tutorial

Announcements :

-HW4 due 6/11
- Midterm 2 : 15/1)

Really Def
: ExnB ,

is lauchy if F2>0 , ENENs .t: km , na,N , kmuxnKE ·

: Camely Ex convergence . (Caucly is also a waymecouldhave defined completeness
: show directly from the definition that Xu= is Camely . Property ofR) .

1 : WLOG wecan take ms .n . Since m>n , In-m)<1m1 .
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·



&2 : Show the if [xn3 , syn's are Camely sequences ,then Exatiyn3 is Camely
P :

Let Obegien . Then since 3xn3
, Syn3 are Candy , there are Nx ,MyeN s.to

Am , na, Nx
, Km-Xu)E ,

manc,Ny , lym-yu)cE .

Sothen for m ,
nc
, may [NxNyY

katym-xn-yu) /xm -xul +1ym-yu) < 2+ 2 =S%,
Def

: [X] is contractive if I aconstant (, 8<2<) , St .
Nutz-Xutl = CIXnti-Xul for all meN .

23 : Prove that every contractive sequence is Candy · (and hence converges) ·

B : Let>O beguen for any Men,
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-Since &<< , MyC" * = 8
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